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Instructions :-

(i) All questions are compulsory.
(i) Question Nos. 1to 5 are objective type questions.
(iii)  Internal options are given In Question. Nos. 6 to 26.

(iv) Draw neal and clean labelled diagram wherever required.
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(a) m

(b) m+1

(c) 2m

(d) 2m+1
uf?-:—:—=:—:$£f?l.a’tmﬁaﬂ'am_
(a) fedm & B

(b) @ & & g

(c) A=A IE &S B

(d) T A B T

(iii) feurT FRFRT 4x2—x + 1= 0B qA &Y -

(iv)

(v)

(a) ~=r=fa®

(b) wrEAE

(c) =

(@) ™ & g A

AR A 7101316 &1 104t 95 2-
(a). 34

(b) 37

(c) 40

(d) 205
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Choose the correct option -

(1)

(i)

()

(v)

(v)

For some integer m. every even integer is of the form-
(@) m

(b) m+1

{c) 2m

(d) 2m+1

2=y :—‘ then the system of equations gives-

02 b
(@) a unique solution

(b) no solution

(¢) infinitely many solutions

(d) None of these

Roots of the quadratic equation 4x” - x + 1= 0 will be-
{a) Real

(b) Imaginary

(c) Both

(d) None of lhese

The 10™ term of the arithmetic progression 7,10,13,16,..

(a) 34

(b) 37

(c) 40

(d) 205

Value of tan 60°-
(@) 3

) =

© 1

(d 0O
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(i) TEUT ax?+ bX+C =0T YD B TOFITA .. e s

(i)

OB LERCAR AR LR AR o T— o7 yrafta
w2 |

Fill in the blanks -

(i) Products of Zeros in polynomial ax?+ bx + ¢ = 01i8......cceeoiiiriiicinn.

(i)  Point (-4, -7) HES ON.........cvivmmiinmmmrimnannesasisirsiiiasnaieend quadrant.

(i) The two tangents drawn from an external point to the circle

angles at the centre of the circle.

---------------------------------------------
-------

(iv) Circumference of the circle =

(v) The longest chord of a circle is the

ﬂ['l 00] R-10 Pags 4 of 16
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(i) 7 fig » fdwie (0,0) 8 &1
(i) IR Aoy wrdoreR, AT, FONHE A YA A e 2|
(iv) & g1 & qrem fag @ i 12 2 W Y e aed &
(v) Pr[ @ &= @on @ g 180° v 2
Write True/False in the following -
(i) 1and 4 are the zeros of polynomial x2— 3x — 4,
(n)  Co-ordinate of origin is (0. 0).
(i) Common difference of any arithmetic progression will be positive,
negative or zero.
(iv) The tangents drawn from an external point to a circle are unequal.

(v) Sum of all the angles of a triangle is 180°.

N: WA WIS aIgn- (5x1=5)

Match the columns-

¥ ¥ (Column-A) %™ T (Column-B)
(i) sin% + cos% (a) %’5 i
(i) sin (S0 - 6) (b) 1
(i) sec?® -1 (c) % 5
(iv) tan30° (d) tan%
(v) cot® {e) cosw®
() secos
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(0 prara @Y™ 3¢ = 5x 4. 2 - o @1 fafaw fdl |

(i) W% & e T fora
(i) owel ¥ WARE IRART aren oty e 22
) mmmmﬂqam;ﬂ
(v) UF P S & wiflar am gy

Write the answer in one word/sentence of each-
()  Write the discriminant of the quadratic equation 3x2— 5x + 2 = 0.

(i)  Write the formula of volume of cone.

(i) The class which has maximum frequency of data is called?

(iv) Write down the formula of calculating arithmetic mean.

(v) Whatis the probability of an impossible event?

76 HEAM 8 9 U4 25 &1 H.C.FUa L.C.M 3Td aifdr | (2)

Find H.C.F and L.C.M of following numbers 8, 9 and 25.
Jar/OR
13 . .

R 5 — P T AR Wi, a1 s et 8

. 13 -
the r - e lerminatj ; ;
State whether ational number T will hav ating or;, non

terminating decimal expansions.
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Find the zeros of the following polynomial and verify the rejationship between

the zeros and the coefficients: 4s2—4s + 1.

3rerqr/ OR
ol TgT2 P() @ o y = Plx) 31 7% A argf A Rar @) P @ T A
[ ST FY —

The graphs of y = P(x) are given in figure below for some polynomials P(x),
find the number of zeros of P(x) -

A

vy

98 fdg A(-5,7) T B(1,3)@ 49 & g8 sma @i 2)
Find the distance between the points A (-5, 7) and B (-1, 3).

rar/ OR

S Bt &1 ey o Afr s 7 A(5.-1),B (3, -5) 7 C (5.2 &

Find the area of triangje whose vertices are A (-5, -1). (3, -5)and C (5. 2)



3 @ T gra g @ e s e |
nd the probability of getting even number.

sai /OR
wﬁaﬁsm@5mﬁtlméﬁﬁﬁwﬁzwmaﬁ}?l

m;uyg@mtﬁimﬂéﬁ?mﬁ?

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from

%9 UF g P G

A dice is thrown. Fi

the bag. What is the probability that the drawn ball is red?
910 R P(E)=0.05. 1 P(E) &1 5 S & |
If P(E) = 0.05, what is the probability of ‘not" E?
uar/ OR
[T 3R &g @1 3 &1 g9 @ uifawa @ 6 @4 @ sk Pri-fvs &2
Savita and Hamida are friends. What is the probability that both will have

different birthdays?

g1l y @1 g ¥4 aa @t e f@g PR, -3) W Q (10, y) @ @ @ g 10 W@

2l
Find the value of y for which the distance between the points P (2, -3) and

Q (10, y) is 10 units.
3ar/OR
k&7 7 9T &4 a1 g A(7,-2), B (5, 1) T C (3, k) T &
Find the value of K for which the points A (7. -2). B (5, 1) and C (3, k) are

collinear.

bl
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912 AC tanA<corp g a fig FRTT 5 A + B = 90°. (3)

Iftan A = cot B, then prove that A + B = 90°.
rerar/OR

Rig @1 f& tan 48° tan 23° tan 42° tan 67° = 1.

Prove that tan 48° tan 23° tan 42° tan 67° = 1.

W13 O R AR G gw @ dw 95 WA A gh w2 g A el v @ ward 4
AR @ ga AN Pyowm I B ()
The length of a tangent from a point A of distance 5 ¢cm from the centre of the
circle is 4 cm. Find the radius of the circle

sqar/ OR
Frg &3 f& g & aiza fag 9@ 9o @ i 1 21 i Y @ B 2|
Prove that the length of two tangents drawn from an external point to a circle
are equal.

A14 g HH Fow @1d Pyrgue @1 davd 1 @Y W1 B W 60° @1 o7 siaRe
&A1 2 | G)

Find the area of sector of a circle with radius 6 cm, if angle of the sector is 60°.
yyar/ OR

<1 gt B B g 3nh a6 WAL 1 g B B S ) R S0 @A

I B AP B UM 3 qeraw 2

The radii of two circlgs are 8 cm and 6 cm respectively. Fing e radius of the

circle having area equal to the sum of the areas of the twg Circles-

[1001 R.1n
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Prove that y3 is an iffational number.
aerar /OR

mm7@255ﬂH.c.FmWWﬂﬁm%
Use Euclid’s division algorithm to find the H.C.F of 867 and 255.

%16 P TEREE & gwim @@ P(X) = x3-3x2 4 5¢-3 @
g(x) = x2- 2 R WM 3 R wrige ¢4 awe K F9 (4)
Divide the polynomial P(x) = x*~ 3x? + 5x - 3 by the polynomial alx) = X2 —

o BT |

2|

then find quotient and remainder by using division algorithm.

i/ OR
afe TR x* - 6x7- 26x2 + 138x-35 B @ TWE 2+VIa2-VIE A

=TT ST @A |
If two zeroes of the polynomial x* - 6x* — 26x° + 138x — 35 are Z + V3 and

2 — 3. then find all the other zeroes. https://www.mpboardonline.com

Q17  GETEO FIHIO x + y = 5@ 2x -3y = 4 1 vl QY | & 30 (a)

Solve the following pair of linear equations by the substitution method:
x+y=5and2x—3y=4

igar/OR

p# frw 9 @ fH0 AAFTN 4x + Py + 8 =0 3R 2x+ 2y + 2 = 0 &1 @& Jfgehg

& &

For which values of P does the pair of equation given below has unique

solution: 4
4x +Py+8=0 and 2x +2y +2=0

Page 10 of 16
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518 T® AP 50 o a forwa &0 9€ 12 & 3R 3ftm gz 10 2 g 2091 W
Ta A | (@)
An A.P consists of 50 terms of which its 3 term is 12 ang the Jast term is 106.

Find the 29" term
Jerar /OR
I¥ AP & 3191 yg gd &0 FTEST 1131 92 38 3R 1691 72 73 21

Find the 31% term of an A.P whose 11" term is 38 and the 16" term is 73.

w19 WA 0N & Fuwrd W ya gam I A &) wan A W N werd w9 A
@ s fAg A am Rar s 21 4R @ W <A @ gEE 60° B TR AR [
% F g Ao A 2 W A @ ma AR (a)
A kite is flying at a height of 60 m above the ground. The string attached to the

kite is temporarily tied to a point on the ground. The inclination of the string

with the ground is 60°, Find the length of the string assuming that there is no
slack in the string.

aerar/ OR
7Mﬂm¢maqﬁm€m$mﬂmqmso°tm
memmﬁoaumﬁmWﬁmn

From the top of a 7 m high puilding. the angle of elevation of the top 0! 2 cable
ne the height

tower is 60° and the angle of depression of its footis 45¢. Detgrmi

of the tower. 14



arerar / OR
Aemcohomﬁrmmmm 7M.maam&qa1$mraﬁ
am ? (g rgfa) | afk £AOB =30° B, & BHR s g gy ST AT
AB and Cp are respectively arcs of two concentric Circles of radii 21 cm and

7 cm with centre O (see figure). It LAOB = 30°, then find the area of the shaded

region.
A B
&
/7
G
3\
O
222 z?mmasmm;mgmaﬁmmmﬁ qut &1 AT 365 2| (5)
Find two consecutive positive integers, sum of whose squares is 365.
gerar/ OR
R w3 =1 wwiny g oyt TG @ Tl T TR

2X2~7X+3=0

Using Formula Method. find the roots of the following equation-

2x2~7x+3=0

{100] r-10 page 13 0/ 16



20 AABC U@ FARAE VIV & Ry AC = BC 21 af% AB’

“21

_oac?®), 7 fiig w1 &

AABC T @ Piwt ¢ “
AABC is an is0SCEeS triangle with AC = BC. If AB? = 2AC", hen prove that

AABC is a right angled triangle.

suar/OR

AABC~ ADEF 3R §9% v gy 6 42 uq 121 212 &1 T2 3o EF = 15.4
o 2 HYWBCWWWW,
Let AABC~ ADEF and their areas be respectively 64 cm? and 121 cm?. .
If EF =15.4 c¢m, then find BC.

15 MR HWl a1 OF TNGR 619 & AWE B (@ I R @A GE G UF W F
5 A wd WA W A R o 2, A (a)

() ©EW TN TE UTH B 4IGS I B |
(ii) uf%qﬁezsﬁsﬁtammﬂakmquommm#mmma‘nr‘q:,n

FEHA 1A §3%d A 3fg A | (71 = 3.14)

A horse is tied to @ peg at one corner of a square shaped grass field of side

15 m by means of @ 5 m long rope, then-

(i) Area of that part of the field in which the horse can graze,
iy The increase in the grazing area if the rope were 10 m long instead of

Page 12 of 16



(s)

VISR o SECA + tan A

w2 m m 3 -sinA

024

R25

Prove that 1-3inA
wdaf¥®r (cosecB — cotB)? - 1-coss &1 g T |

l+cogH

Prove that the identity (cosecn — cot9)? = 1-cosh
1+cosh

7.6 . TA IEWAYS IR 37 5 5.8 3 fnfor A | @ B wRor o faReT |

Draw a line segment of length 7.6 cm and divide it in the ratio 5:8. Write steps

of construction.

3¥ar/OR
sﬁxﬁmmmnﬁzrﬂfﬁﬁvlﬁfaa1om.§zﬁu6wﬁ‘gﬁq?lq”\’m

Y@ IR & T B SR e B o ferfeay |

Draw a circle of radius 6 em. From a point 10 cm away from its centre,

construct the pair of tangents to the circle. Also write the steps of construction.

HHI. 6 FH, 8 WA vd 10 gl Faamar’fdmmamch‘mn‘mﬁaﬁfhaam
U@ T8 T8 WA T T T A @ FFem sma i

Metallic spheres of radii 6 cm, 8 cm and 10 ¢m respectively are melted to form
a single solid sphere. Find the radius of the resulting sphere.

3yar /OR

hw4.2wﬂﬁ”@$mﬁmwﬁmmnﬁwsw.mwma}m
¥ grenm o &1 477 @ T 5w i

A metallic sphere 0f radius 4.2 cm is melted and recasted into the shape of .
cylinder of radius 6 cm. Find the height of the cylinder.

i 5100] A10 Page 14 of 16
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926 PRI qiiary 25 fawreh Sl @ Al T (voy ) o e &9 &

e (@ T awaRan

= e B
20-40 | 35
40-60 52
60-80 61
80-100 38 |
100-120 29 |

s l

JUGNON T dgcdd SfraEaTE S B |

The following data gives the information on the observed life times (in hours)

of 225 electrical components-
" Lifetime (In hours) | Frequency |

20-40 s '.

40-60 52 |

60-80 61 |
80-100 - 38
100-120 J 29

Determine the modal lifetimes of the components.

E EO]R‘O page 150! 16
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Prefafora @R 35 A A e < (gfaed A @ e o

NI
i O ORG hi teracy rate (in %) ol 35 cities. Find the mean

literacy rate.
7585 85-95

e X % | 4555 [ 55.65 | 6575

Literacy rate in %

—wRAwE | 3 i T

Number of cities '

| _l“ l = l—"'f’

) T T BT Ry
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